
Handout #9 

Structure 

 Initial word in vv. 12, 13, 14—la; (al) = “not” 

 Final phrase in v. 12 and v. 14: ________________________ 

 Leitwörter in vv. 12-14: ______ (cf. also v. 11) 

          (cf. also v. 10) 

 Unit—vv. 10-14 

 Unit—vv. 1-9 

 v. 15— ? 

v. 14—“cutting down” 

  ____________ Jerusalem (v. 13) 

  ____________ Jerusalem (v. 14)  

 “imprisoning” 

v. 15— 

 signal of the above: initial word yKi (kî) = “for this reason”, “because”, “for” 

 (cf. also v. 16) 

  Concatenation: _______ plus ____ _____ _________ 

Lex talionis = ___________________________ 

 

 

 Interface: v. 7 __________ with v. 9 _____________ 

      v. 12 _________ with vv. 2, 4 ___________ 

      v. 13 _________ with vv. 5-6 ____________ 

      v. 14 _________ with v. 7 _____________ 

      v. 14 _________ with v. 9 _____________ 

 

 

 



v. 16 

Concatenation: ____ ____ _________ plus ______ 

 recursions: (1) 

         (2) 

                  (3) 

   hy"h' (hayah, “to be”); cf. v. 21 

 what will not be (v. 16) versus what will be (v. 21) 

  atemporal and aspatial 

    temporal and spatial 


